=Ly I 2%t

RHBERBEMODESE

201948 A 57
[R# 2 SR ZR Bl (RFR)
A_ FX /— s
S [B] B {fh IRITE M P "
2019588 & 20194 7H & RiTEMfc D=4
0.17 F/m 2.53 F/m ~2.36 F/m
(T5%E)
[REHIE D ZEE) [M/t]
20194E3 8 ~20194F5 8 D F14|2019428 ~2019F4F DF| __,_ -
( sEEES ) ( 1BmEtn ) | ROCOER
Y[R FHE A (a) 57,510 60,190 -2,680
LNG 57,370 60,390 -3,020
LPG 57,250 53,950 3,300
FE S R FHE A% (b) 57,250
Z#(a-b) 200 2,900 2,700

« LNG{fi#& . LPGfit& (X &BICE Z#fiEHE
- SEHREHEAE SR E T REMEREDEEE (a-b) (X100A KB IVIET

[FRHEERBREMOETEAZE
<BEFEHROEEICKSBEMHESRAEEDETE >
B REAMEEDETE
LNGF B[R FHl+ (B Z#aHE) 57,370| x 0.9479
+ LPGEHREFHEE (B ZH#fatE) 97,250 x 0.0546
57,506.87|{H /t
| (IOHRFEMEERAN)
—ETsiom

BRI EBFEDEE

 wslms - [ selma = 2m
| (100MFRFEYIVIET)

[ 200jAn
WEMHSABRE(MH-YRARLE DETE
==Rivg A s Rt ] = 200({M /100 X 0.08748 %1
= 017|M/m %2

X1 TEHE100M I DE B £%0.08748(=0.081 x 1.08) AR LET,
X2 BB TSAOBIT/NEICIUTEYVE T, I/ FRADBIT/NREMRLUTEUY LIFET




